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			1) Start at C2 facing North, go forward 2 squares, then turn 90 °anticlockwise and go forward 1 square.
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Write the position of the square you are now in. 
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			2) Start at H9 facing South, go forward 2 squares, then turn 90 °clockwise and go forward 5 squares.
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Write the position of the square you are now in. 
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			3) State the bearing that matches with the compass direction below 


     
North
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			4) State the compass direction that matches with the bearing below 


     
045 °
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			5) Find the missing compass direction marked with an   using one of the abbreviations N,S,E,W,NE,NW,SE,SW
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			6) Find the value of  , giving your answer as a 3 figure bearing
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			7) Find the bearing of F from E
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			8) In the diagram below, Triangle ABC is isosceles and angle ABC is 90 °.
 
Find the bearing from B to A.
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Solutions for the assessment Bearings - basics

			1) B4


			2) C7





			3) North is 000 °


			4) 045 ° is NE





			5)   is S


			6)   is 090 °





			7) Bearing = 095 °
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			8) Bearing = 225 °
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